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O AR FHH A=A

- ARFE (F)HLAT EEPAEIGERR)S ookEe] FESIFAL AT A252A12
@h%zﬂiﬂ AFetes FHOZA TR F=wPAJASA(F) EAER (2
U=d8)d A=d3554S A5+

1. S TSHAZ BT AR
A Bk ESte 9 [(F) N UA 3} thok EHARY[ T A A (F)] &
2 2198 A3 AU FB A B8 ATECIse] 3850 IF U2 PE
M 57748 B (AUC, Cra) & ZL1WSSE] SAA 540 o, B2 2] 90% A

ofN 2

oA log1.25 o] HZA A ESHH O & T8 YS53A+.
el s gzt
T AUCo-72nr Crnax
(ng - hr/mL) (ng/mL) Tines () tuelhr)
EgtAEA 2.00
ZoF - - 133.3 £ 24.9 4.041 = 1.745 56.19+15.16
Mz (Fr=rul & A DAY (F) 0.50 ~ 12.00)
_ gy 2.00
Al ek 134.7 £ 24.9 3.849 £ 1.443 56.88+14.64
ik () LA <) (0.50 ~ 24.00)
90% A= 7k* log 0.9667 ~ log | log 0.8766 ~ log
(71 : log 0.8 ~ log 1.25) 1.0488 1.0708
(AUCt, Cmax, t1/2 ; BHEHEEFHA, T s TYREE D, n=38)
AUC; : BFAIZIREH HFTEFEE AFAL t7hA 9 EFF=- AT A
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